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3rowing, Growin Investigation 3.1 ientifi i
\iEing Rabbits .1 and Scientific Notation
a small number of rabbits were introduced to Australia by English settlers. The rabbits

lural predators in Austrailia, so they reproduced rapidly and became a serious problem,
'Ses intended for sheep and cattle.

s had counted the rabbits in Australia in the years after they were introduced, they might
sted data like these:
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the growth factor? l . ? Show how you found your answer. 18O 100

: the growth pattern continued. Write an equation for the rabbit population, p, for any year,
: rabbits were first introduced. Explain what the numbers in your equation represent.
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ie that during a different time period, the rabbit population could be predicted by the
) = 15 (1.2"), where p is the population in millions, and n is the number of years.
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